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BOLOGNA PROCESS AIMS

• The purpose of the Bologna process (or Bologna accord) is to 
create the European higher education area by making academic 
degree standards and quality assurance standards more comparable

and compatible throughout Europe.



BOLOGNA CYCLES
The basic framework adopted is of three cycles of higher education 
qualification. As outlined in the Bergen Declaration[1] of 2005, the cycles are 
defined in terms of qualifications and ECTS credits:

1st cycle: typically 180−240 ECTS credits, usually awarding a Bachelor’s
degree. 

2nd cycle: typically 90−120 ECTS credits (a minimum of 60 on 2nd-cycle level). 
Usually awarding a Master’s degree. 

3rd cycle: Doctoral degree. No ECTS range given. 

In most cases, these will take 3, 2, and 3 years respectively to complete. The 
actual naming of the degrees may vary from country to country.

These levels are closer to the current model in the UK and Ireland than that in 
most of continental Europe, where the model often is based on the diploma. In 
any case, program length tends to vary from country to country, and less often 
between institutions within a country.



SITUATION FOR UK ENGINEERS

• The master’s degree effectively becomes the minimum qualification 
for a professional engineer, rather than the bachelor’s degree. 

• The academic three-year degrees prepare only for continuing 
towards master's, so students who enter the workforce at that point 
will not be properly prepared. 

• The end-result of the change is that the agreements between 
professional bodies require reevaluation in some cases as 
qualifications change.



UK SITUATION
• 3-year BSc/BEng was common qualification until 90s
• Mid 90s, MEng became common. Masters graduates are eligible for 

entry to process to become Chartered Engineer 
• BEng graduates needed additional training to bring to required level:
• UK Engineering Council called these  ‘matching sections’

• So there is a mismatch between UK 4-year masters (240ECTS), 
which is the professional engineer degree, and the Bologna ideal
(min 270).

• Does it matter?
• Some universities looking for ways to get student industrial 

attachments properly accredits as ECTS
• Minimum first+second cycle is 180+90=270
• Hence UK 4-year MEng needs to find extra 30 ECTs somewhere



OPPORTUNITIES:
PGT AND CPD
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